
TOEIC PART 6
Error Recognition
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Directions:
In this part of the test, each sentence 
has four words or phrases underlined. 
The four underlined parts of the 
sentence are marked (A), (B), (C), 
and (D). The students are to identify 
the ONE underlined word or phrase 
that should be corrected or rewritten.

Printing of this document is strictly prohibited.



QUESTION 1
According to many economists, international 
specialization in the production of some 
goods, such as cars and 
computers, increase world efficiency and 
output, making all nations richer.
A. According to
B. such as
C. increase
D. making
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QUESTION 2
Wages and salaries account for nearly three 
fourths of the 
total nationally income generated in the United 
States annually. 
A. account for
B. nationally
C. generated
D. annually
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QUESTION 3
Farther evidence is needed to support recent 
research which suggests that certain chemicals 
found in broccoli may act as cancer 
preventatives. 
A. Farther
B. to support
C. suggests
D. may act
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QUESTION 4
The basic factors that enhance health 
and longevity include vigorous 
exercise, hereditary, and diet. 
A. that

B. longevity

C. hereditary

D. diet
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QUESTION 5
Human infants are not usually able to walk 
by selves until they reach eleven or 
twelve months of age. 
A. not

B. able

C. selves

D. months
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QUESTION 6
Many corporate advisors 
feel that companies that provide their employees 
with recreational time and facilities safe money on 
health insurance in the long run. 
A. that

B. that

C. recreational

D. safe
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QUESTION 7
Arteries with poorly blood flow can 
leave the heart muscle starved for oxygen, a 
condition that often leads to heart attack. 
A. poorly

B. the

C. starved for

D. that
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QUESTION 8
Unlike most liquids, which contract when 
they solidify, water 
expands by nine percentage when it freezes. 
A. Unlike most

B. solidify

C. by

D. percentage
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QUESTION 9
The technology, developed in coal-
rich Germany in the 1920s, involves partly 
burning coal to turn it into a gas, then using a 
catalyst, usually a metal, make it a liquid. 
A. coal-rich
B. involves partly 
C. turn it into
D. make it
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QUESTION 10
The most aggressive bees known, the African 
honeybee is currently swarming into North 
America.
A. most aggressive

B. bees

C. currently swarming

D. into

Printing of this document is strictly prohibited.




